Anatomy Lecture 2 Final

1. Mark the question that has — wrong — answer

a) Does the spinal cord pass through medulla oblongata? Answer = Yes

b) Is the spinal cord covered by meninges? Answer = Yes

c) What is the shape of denticulate ligaments? Answer = Quadrilateral

d) What type of tissues are the meningeal membranes? Answer = Connective tissue

2. Mark the question that has — wrong — answer

a) Which mater of meninges is composed of two layers? Answer = Pia Mater

b) What is the name of space above dura mater? Answer = Extradural space

¢) Which space contains the Cerebrospinal Fluid in meninges? Answer = subarachnoid space
d) What is the main function of Cerebrospinal Fluid? Answer= Protection

3. Mark the question that has — wrong — answer

a) Where does Plexuses arise? Answer = Spinal cord enlargements

b) What we call the Diagonal branching of spinal nerves after spinal cord tapers down? Answer = Filum
Terminale

c) Is the vertebral column longer than spinal cord in adults? Answer = Yes

d) Does the spinal cord move and grow in length? Answer = No

4. Mark the question that has — wrong — answer

a) Which horn of grey matter of spinal cord contains motor cell bodies? Answer = Anterior horn

b) Which part of grey matter of spinal cord contains the Central Canal? Answer = intermediate mass
¢) Which root of spinal cord is sensory? Answer = Dorsal Root

d) Which region of spinal cord does not contain lateral horn? Answer = Thoracic

5. Mark the question that has — wrong — answer

a) Which division of a spinal nerve supply the meninges? Answer = Meningeal branch
b) Which ramus of spinal nerves tend to make plexuses? Answer = Dorsal ramus

¢) Which nerve supplies the major muscle of respiration? Answer = Phrenic nerve

d) Do thoracic spinal nerves form a plexus? Answer =N

6. Mark the question that has — wrong — answer

a) Which plexus supply structures of the head? Answer = Cervical Plexus

b) Which plexus supply structures of the upper limb? Answer = Brachial Plexus

c) Which nerve supplies muscles of anterior thigh? Answer = Genitofemoral Nerve
d) What is the largest nerve in the body? Answer = Sciatic nerve

1 2 3 4 5 6
C A B D B C
BEST WISHES <3

Done by : Bader EI-Qadi , Mo Obiedat And Sumayah

Don’t forget : https://medjust20.weebly.com/



https://medjust20.weebly.com/

